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1/2
The domain of the fraction f(x) = [lo 9., (Sx_xz)] is
4

a) -o<x<oo c) 1sx<4
b) 4<x <16 d-1<x<1
. . sin"1(3-x) .
The domain of the fraction f(x) = ﬁ is
a) [2,4] c) (2,3)U (3,4]
b) [2,0) d) (-00,3) U [2, )
The domain of f(x) = log|logx| is
a) (0,) ¢) (1,)
b) (0,1) U[1, ) d) (-o0,1)
. log,(x+3) .
The domain of f(x) = xf:;x+2)
a) R-{-1,-2} c) (-2,0)
b) R-{-1,-2,-3} d) (-3,0)—{-1,-2}

The domain of the function f(x)= L

10¢, _, —sx1o0c,
Contain the points

a) 9,10, 11 c) 9,10,12
b) All natural numbers d) None of these

X

The domain of the function f(x) = TSt —cosin D) (n € 2)is

The range of f(x) = sin™! (x2+1) is

x2+2

a) [0,m/2] c) (0,m/6)

b) [n/6,m/2) d) None of these

The domain of f(x) = cos™! (Z—Tlxl) + [log(3 — x)] tis
a) [-2,60] c) [-6,2)U(2,3)

b) [-6,2] d) [-2,21U (2,3)
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The domain of the function
1 .
f(x)log, (—log1/2 (1 + m) - 1) is

a) (0,1) c) (0,1]
b) [1, ) d) (1, )

The range of f(x) =sin™(VxZ + x + 1) is
o (03] 9 (03]
b 53] 9 [33]

The range of sin™! [xz + %] + cos™! [xz — %], where [.] denotes the greatest
integer function is

a) {g n} o) {m}

b) {%} d) None of these

The domain of f(x) = In (ax’+(a+b)x’+(b+c)x+c) where a> 0, b’-4ac =0, is
(where[.] represents greatest integer function).

The number of functions from the set A={x€ N:x? — 10x + 9 < 0} to the set
B ={n%:n € N} such that f(x) < (x —3)? + 1, forevery x € 4 ,is

The domain of the functionf (x) = sin™*[2x? — 3] + log, (logl(x2 —5x + 5))
2
Where [t] is the greatest integer function, is

The range of f(x) = [sin x+[cos x+[tan x+[sec x]]]],x€ (0, %) ,where[.] denotes the

greatest integer function< x,is

a) {0,1} c) {-1,0,1}
b) {1} d) None of these



